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1. Chapter 1 Ex. 2c
2. Ashley, Francie, and Rohan arrive for a meeting in random order. This means that if you
let A, F, and R represent Ashley, Francie, and Rohan respectively, then all six of the possible
orderings AFR, ARF, FAR, FRA, RAF, and RFA have the same chance. These orderings are also
known as permutations of the letters A, F, and R.

c) Say whether the following statement is true or false. If it is true, explain why. If it is false,
find the correct value of the left hand side.

P(Francie arrives before Rohan or Ashley) = P(Francie arrives before Rohan) + P(Francie arrives before Ashley)

2. Chapter 1 Ex. 3
3. In the grade distribution of a class, an equal proportion of students got A's and B's and the

remaining students got C's. You can assume that there was at least one student in each grade
category.

One student is picked at random from this class.

a) If possible, find the numerical value of the chance that the selected student got an A. If this
is not possible, explain why not.

b) If possible, find the numerical value of the chance that the selected student got an A given
that the student got an A or a B. If this is not possible, explain why not.

c) If possible say which one of the following chances is larger than the other. If this is not
possible, explain why not.

« the chance that the student got an A
+ the chance that the student got an A given that the student did not get a B
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3. Chapter 1 Ex. 4
4. The 17th century French writer who called himself the Chevalier de Méré was
interested in probability and claimed that two events involving dice have the same
chance. In this exercise you will assess his calculations.

Note that on a die, the "ace” is the face with one spot.

a) The Chevalier said that the chance of getting at least one ace in four rolls of a die is
2/3. His reasoning was that the chance of getting an ace on one roll is 1/6, so the
chance of getting an ace in at least one of four rolls is 4 x (1/6) = 4/6 = 2/3.

Is this a good argument? If not, what is the flaw? If it is flawed, is the Chevalier's
answer too large or is it too small?

b) The Chevalier also said that the chance of getting at least one double-ace in 24 rolls
of a pair of dice is 2/3. He reasoned that the chance of getting a double-ace in one roll
of a pair of dice is 1/36, which is true. He went on to say that therefore the chance of al
least one double-ace in 24 rolls of a pair of dice is 24 x (1/36) = 24/36 = 2/3.

Is this a good argument? If not, what is the flaw? If it is flawed, is the Chevalier's
answer too large or is it too small?

[In fairness to the Chevalier, he observed that when dice were actually rolled, the
events in Parts a and b did not occur equally often. He got the great mathematicians
Pascal and Fermat to help him fix his error. You will do their work in the next chapter.]

4. Chapter 1 Ex. 5

5. Here's a question from Quora: “If a student applies to ten colleges with a 20% chance of
being accepted to each, what are the chances that he will be accepted by at least one
college?”

Without making any further assumptions, what can you say about this chance?




